
























































































f) A student claims the [OH-]= Kb at the half-equivalence point of the
titration. Provide evidence that supports the claim.

g) The pH at the equivalence point of the titration is 5.71. Show the
calculation that produces this pH.

h) Which of the two bases, trimethylamine or dimethylamine is the
stronger base? Explain.

8. Calculate the pH of each of the following,

a) 0.300 MHC3H502 (propionic acid)

c) 250. mLs of a solution that is 0.450 MCH3NH2 and 0.400 MCH3NH3N03.

d) after adding 0.0025 mol HN03 to the solution in pai1 2c.
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